Eric McClure

Chevrolet /// Larry McClure
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You must subtract 3 from your roll when determining )1
this car's pole position. |
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Starts-1 Poles-O Wins-O Top 5s-O Top 10s-0 Points-70
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9 Stephen Leicht Tl

Ford /// Robert Yates

You must subtract 3 from your roll when determining :1
this car's pole position.
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Starts-1 Poles-O Wins-O Top 5s-O Top 10s-O Points-64
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Juan Pablo Montoya
Dodge /// Chip Ganassi
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You must subtract 3 from your roll when determining -
this car's pole position.

Starts-1 Poles-O Wins-O Top 5s-O Top 10s-0O Points-61
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4 P.J. Jones W‘—I

Chevrolet /// Larry McClure

If a spin occurs within 2 spaces in front of this car, )1
this car must make a Driver check.

Starts-1 Poles-O Wins-O Top 5s-O Top 10s-O Points-55
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